Active and Passive Voice

Choose the passive voice of the following sentences from the options given below:

Question 1.

My mother was driving a car.

(a) A car was being driven by my mother.
(b) A car was driven by my mother.

(c) A car was being driven by my mother.
(d) A car will be driven by my mother.

¥ Answer

Answer: (a) A car was being driven by my mother.

Question 2.

She made a beautiful dog.

(@) A beautiful dog was made for her.
(b) A beautiful dog was made by she.
(c) A beautiful dog was made by her.
(d) A beautiful dog is made by her.

¥ Answer

Answer: (c) A beautiful dog was made by her.

Question 3.

I will surely help you.

(@) You will be helped by me.

(b) You will not be helped by me.

(c) You would surely be helped by me.
(d) You will surely be helped by me.

¥ Answer

Answer: (d) You will surely be helped by me.
Question 4.

They had played a match.

(a) A match had played by them.

(b) A match had been played to them.

(c) A match had been played by them.
(d) Them will be played a match.

¥ Answer

Answer: (c) A match had been played by them.



Question 5.

She will have taken her lunch.

(@) Her lunch will be taken by her.

(b) Her lunch will have took by her.

(c) The lunch will has taken by her.

(d) Her lunch will have been taken by her.

¥ Answer

Answer: (d) Her lunch will have been taken by her.

Question 6.

I have done my work.

(a) My work have been done by me.
(b) My work has been done by me.

(c) The work will be done by me.

(d) My work has not been done by me.

v Answer

Answer: (b) My work has been done by me.

Question 7.

He is knocking at the door.

(a) The door is knocked by him.

(b) The door is not being knocked at by him.
(c) The door is being knocked at by him.

(d) The door is being knocked at him.

¥ Answer

Answer: (c) The door is being knocked at by him.

Question 8.

I saw a Him yesterday.

(a) A film was seen by me yesterday.
(b) A film is seen by me yesterday.
(c) Yesterday was seen a film by me.
(d) A film will seen by me yesterday.

v Answer

Answer: (a) A film was seen by me yesterday.

Question 9.

Ram has finished his work.

(@) His work has finished Ram.

(b) Ram has not finished by his work.

(c) His work has not been finished by Ram.
(d) Ram’s work has been finished by him.



v Answer

Answer: (d) Ram’s work has been finished by him.

Question 10.

I see a film.

(a) A film was seen by me.
(b) A film is seen by me.

(c) A film was seen to me.
(d) A film will be seen by me.

¥ Answer

Answer: (b) A film is seen by me.



